
N = 145

145 circles in a 1x0.20000 rectangle

radius =   0.019124794028
ratio  =  10.457628966380

density  = 0.833069841045
contacts = 366
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N = 146

146 circles in a 1x0.20000 rectangle

radius =   0.019089088078
ratio  =  10.477189857635

density  = 0.835685941920
contacts = 379
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N = 147

147 circles in a 1x0.20000 rectangle

radius =   0.019061390214
ratio  =  10.492414128918

density  = 0.838969853940
contacts = 378
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N = 148

148 circles in a 1x0.20000 rectangle

radius =   0.018998643431
ratio  =  10.527067405101

density  = 0.839125224272
contacts = 374
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N = 149

149 circles in a 1x0.20000 rectangle

radius =   0.018980269062
ratio  =  10.537258420702

density  = 0.843161707595
contacts = 387
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N = 150

150 circles in a 1x0.20000 rectangle

radius =   0.018961762331
ratio  =  10.547542813250

density  = 0.847166031359
contacts = 393
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N = 151

151 circles in a 1x0.20000 rectangle

radius =   0.018897984683
ratio  =  10.583139067833

density  = 0.847086595902
contacts = 316
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N = 152

152 circles in a 1x0.20000 rectangle

radius =   0.018880546742
ratio  =  10.592913580845

density  = 0.851123531431
contacts = 395
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N = 153

153 circles in a 1x0.20000 rectangle

radius =   0.018869889940
ratio  =  10.598895946966

density  = 0.855756175872
contacts = 405
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N = 154

154 circles in a 1x0.20000 rectangle

radius =   0.018807774894
ratio  =  10.633900135656

density  = 0.855687985539
contacts = 392
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N = 155

155 circles in a 1x0.20000 rectangle

radius =   0.018791120418
ratio  =  10.643324908201

density  = 0.859719794988
contacts = 403
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N = 156

156 circles in a 1x0.20000 rectangle

radius =   0.018784755819
ratio  =  10.646931050031

density  = 0.864680337860
contacts = 313
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